Matrices and Determinants - Class XlI

Related Questions with Solutions

Questions

Quetion: 01

Which of the following values of ¢y satisfy the equation
(1+a)? (1+2a)* (14 3a)?
(2+a)* (2+2a)* (2+3a)? | =—648a7?
B+ a)? (3+2a)* (34 3a)?

A.-4
B.9
C.-9
D.4

(14 a)* (1+2a)* (1+3a)? R Re— R

2+ a)? (2+2a)? (24 3a)? 27 27 M ke common]
(B+a)? (3+2a)2 (3+3a)2 | fs7 M

(14 a)? (14+20)* (14 3a)?

2] 3+2a (3+4a) (3+6a)

(442a) (A+4a) (44 6a)

R3 — R3 —2 R2 ) )
(14+a) (14+2a)? (14 3a) Cy — Cy — C
21 34 2« 3+4a 3+ 6 [Take common]
1 1 1 Cg — C’3 — Cl
(1+a)* (243a) (2+4a)
202 - a| 3+ 2« 2 2
1 0 0

40%| — 20| = —8a® = —648a
a=0,0>=81,a =49

Correct Options

Answer:01
Correct Options: B, C



